Contingency Table “by hand”
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	1. Make a table with sex as columns and party affiliation as rows
2. Count how many cases fall in each cell of the table.

3. Find the totals in each row (row marginals).

4. Find the totals in each column (column marginals)

5. To compute “row percentages”, divide the number in each cell by the corresponding row marginals and multiply by 100

6. To compute “column percentages”, divide the number in each cell by the corresponding column marginals and multiply by 100

Check your work:

1. The row marginals and column marginals must add to N (the total number of cases)

2. The row percentages must add up to 100% across each row

3. The column percentages must add up to 100% across each column.

Extra work:

1. Compute the expected value in each cell. Recall that the expected value in a cell is:

(cell’s row total) * (cell’s col total) / (overall total)



	
	


